No tutorials this week! Midterm tonight!
Office hours today: after class in Remo
Learning goals for today

* Explain quantitatively how the intensity of light from an
object radiating uniformly in all directions varies with the
distance to the object

* Describe which molecular properties of a gas affect the
pressure on the walls of a container, and what
proportionality relationship each of these quantities has with
the pressure

* Describe the microscopic origin of the 1deal gas law
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If we moved the Earth twice as far away from the Sun, the power of
solar radiation hitting the Earth would be

A) twice as much as before.

B) the same as before.

C) half as much as before

D) one quarter as much as before.
E) one eighth as much as before.
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2. Mars albedo, the reflection coefficient for sunlight from Mars, is 0.250. The radius of

Mars is 3397 km. The Solar constant at Earth is 1367 W/m? and the distance from Mars
to the Sun is 1.52 times the Earth to Sun distance. ‘&
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a) Find the temperature of Mars.
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" ® s ® o The picture shows molecules of
> /o.t ;o \ N anideal gas near the wall of a
~e & | A R ®  container. What properties of
o N\ ® . L l, these molecules does the

@
\:f ® N of \/ pressure on the wall (force per

unit area) depend on?

EXTRA: for each quantity you identify, what would happen to the
pressure if you double that quantity?
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